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There are five person A, B, C, D and E who are selling 20,000/books
Named as Maths, Physics, Chemistry. The table given shows information

about the selling of books by different person.
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Question 1- Find the ratio of number of Chemistry books sold by A, C
and E to the Maths books sold by A and D together.
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Question 2- Number of books sold by C 1s what percent of Maths
books sold by seller B.
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Question 3- Find the average number of Maths books sold by all

seller.
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Question 4- Out of total Pthws books sold by seller E the ratio of
defective to good books i1s @ Find the number of defective books.
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@ Question 5- Find the difference between Chemistry books sold by
seller D and E to the Physics books sold by seller B and C.

9% 5- fershdl D 3R E g1 sl T8 T1EH foqi il T&dehi 3 fshel B 3K

C ST Sf=t 75, Hifcioht ohl TEIhI o i<l 3T S JTd hifSIU)

A. 100
B. 200
C. 160
D. 240
\E None of these

Y%

(Y-10)%

(Y-5)%
3000

10%



Looo

P}\/ﬂ &B‘YC) :P%(QPK ﬁ% oot + 4 5/ ) 57674@@@0




wA
In the given bar grapé;funs scored by players A,B,C,D and E are given

and line graph shows the Batting strike rate of them.
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@ Question 6- Find the ratio between the total ball faced by played A and
B

e T 6- A IR B G HHAT o6l T et 11 h SiT=l T ST JTd ST

B. 23 250 200 600 & 50—
111\/ 200 140° 500 _3 O 436
PNVANTY!

: 150 ’\\
D. 3:4 %5} N o g 225)
E. None of these 200

-1
L%kcmé PDB C D E n







@ Question 7- If score of B and C i1s combined then what will be the

strike rate.
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A. 120
B. 210

C. 140
D. 130

E. Nong of these

Question 8- Find the difference between average number of ball faced

by player C and D to the average run scores by players A and B.
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Question 9- If the total runs scored by player F 1s 20% more than the
runs scored by E and he played total 200 balls then find his strike rate.
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Question 10- If player D hits four boundary and 5 sixes in his next
innings continuously and one ball missed by him then find his strike

rate.
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Question 11- If player B plays 10® ball and he ducked out on 10 ball

@ then find his new strike rate.
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